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10. Let A be the event that both your hole cards are kings, and let B be the event tha oot yous

A and B independent?

hole cards are red cards. Are | : |
a. No. b. Yes. « Cannot be determined from the information gIves.
11. Suppose you play 100 hands.Of Texas Holdem. Let X = the number of hands where both
your hole cards are clubs. Whatis the expected value of X7 s
a. 4.29. b. 4.75. c. 5.88. d. 6.20. e None of the above.
12. Let X = the number of hands until the first time you are dealt 2 cards that aré both clubs.
What 1s E(X)?
a. 15.1. b:16.2 c. 17.0. d. 18.9. e. None of the above.
v(2X+Y,

(0 1)and X and Y are independent. What Is €O

13. Suppose X and Y are uniform oOn :
' :'1 :\:‘F—l\l' )‘? T ! 4 E ( g\il
| a. -0.404. b. 0.404. c. UDIS. d. 0.833. e. None of the above.
- R Al

. - | A T - et 1o 7 - YY) e, IR
X 18 c-_\;:anmfnlml with A =2 so E(X) = 1/2. What 1S P(2<X <3)! (e 2. 718282

|4. SuppOse€ . |
2. 0.593% b. 1.58%. c. 7.29%. d. 8.03%. e None of the above.
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" b. 41.29 e 50.0¢ d. 62.2 ~ None of the above.:
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[ ederer has 109 89,

For the next twoO problems, Suppe se Minieri has Q¥ 29 hu
and the flop 1s 26 10% O&_ Before the tum 1S revealed. the

1 = B
ooes all 1n 101 d=

Minieri has more than $20 and is deci

6 Assuming Minieri wants O I
,ssuming knowledge of his cards, |

call’

a. Yes, because Minie€rl should

his probability of winning the hand 1s 14.3%.

b Ves. because Minieri should call 1f his probability of
jand 1s 11.4%.

his nrobability ol W inning the
c. No. because Minieri shouid onl}
but his probability of winning the hand 1s on
4. No. because Minieri should only call if hi
but his probability of winning the hand is only 11.4%.

~call if hus
l)’ 11.4‘%21.

e. None of the above.

and the river is the 2%, giving him 3

7 Minierl calls, ‘
(o luck on the river’

b. $112. d. 5124

c. $118.

g;ﬂn due
a1 $101.

yximize his expected pumber
.L."t]L‘i'L'l""w cards. and the 4 (.‘Hl“dﬂ on the

call if his probability of winning

probability of winning the hand

s probability of win

¢ only opponent
t 1s $100. The turn 1S 44, and Lederer

ding whether (o call.

of chips after this hand, and
board, should Minien

the hand is at least 14.1%, and

winning the hand is at least 11.2%, and

T

f a kind. HOW much equity did Minieri




